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Which one of the following scale has “true zero” pomnt?

Options:

4 Ratio
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What type of data is the Temperature measured on Kelvin scale?

Options:
4 & Ratio
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Correct Marks: 1 Wrong Marks: 0.33
Consider the two events A and B. Which one of the following is always true?
Options:

| ¢ P(ANB) < P(4)

Question Number : 3 Question Id : 47163917010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Soco suexden(events) A.B 0 SIS & S08 TrBES” JVIEPIRDNE DB?
Options:

L@ P(AnB) = F(4)
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Which one of the following 1s a Random sampling method?

Options:



oy Systematic sampling
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In a particular university, the number of research scholars in different sub jects are given below:

Subject Number of research scholars
English 15
Hindi 10
Sanskrt 5
Mathematics 25
Physics 15
Chemstry 25
Statistics 20
History 5

If we represent the above information using a Pie chart, the angle of the shee representing
the research scholars of Statistics will be

Options:
> o 60°
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Which one of the following 18 NOT correect?

Options:

_— The percentage 1s the proportion divided by 100.
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Options:

5 Dy ( Proportion ) D 100 & 2063 70 H008.
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Consider a population of eleven households, say a,b.c,d. e, f, g, h.i, j and
k. If a sample of size 4 15 to be chosen using circular systematic sampling, which one of
o A (]

the following CANNOT be a sample?

Options:
5  ghbe
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The age of 1000 students studymg m an Indian nmversity 1s classified as follows:

Age (in years) | No. of students
17 —22 500
22 — 24 250
24 — 30 150
30 —35 72
35— 40 25
40 — 45 3

We represent the above information using a Histogram. Let the heights of the rectangles
s

representing the class intervals 17-22 and 35-40 be hy and ha, respectively. Then, 33
Options:
> o 20
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The following pie-chart shows the percentage distribution of the production
of mobile handsets in India by a leading company during 2014 to 2018.

2016 . 015

2014

If, in the year 2015, the number of handsets produced was 345 thousand, then the pro-
duction (in thousand) for the year 2017 should be

Options:
4 & 575
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The following table shows the frequencies and cumulative frequencies of
the waiting time (measured in minutes) between eruptions of the Old Faithful geyser in
Yellowstone National Park

Minutes | Frequency | Cumulative frequency
< 50 21 21

50 — 60 H6 ¢4

60 — 70 % 103

70 — 80 (i Yy

80 — 90 30 260
= 00 12 272

The values of = and y are, respectively

Options:

e 26 and 180
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<50 21 21
50 — 60 56 77
60 — 70 % 103
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Let E and F be two events with 0 < P(E) < 1, 0 < P(F) < 1 and
P(E)+ P(F) > 1. Which one of the following statements is true?

Options:
5 o P(E|F®) > P(F¢|E)
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A person makes repeated attempts to destroy a target. Attempts are
made mdependent of each other. The probability of destroying the target in any attempt
15 (0.7. Given that he fails to destroy the target in the first four attempts, the probability
that the target i1s destroyed in the Tth attempt is

Options:
-« 0.063
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o of 0.063
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Let § and (2 denote the empty set and the sample space, respectively. For

any two events A and B, which one of the following 1s always true?

Options:



_ P(ANB) > P(A) + P(B) —1

i
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Options:
P PAANB) = P(A)+ P(B)—1
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A car part 18 produced by three factories Fy, F5 and F;. Their propor-
tional production 18 30, 30 and 40 percent, respectively. Also, the percentage defectives
manufactured by three factories are 4, 3 and 2, respectively. A part 1s taken at random
and 1s found to be defective. The probability that the selected part belongs to factory F3 1s

Options:
| & 8/29

Question Number : 14 Question Id : 47163917021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33
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The following table shows each family of a survey, classified according to both their family income

and the level of happiness:

e Level of Happiness
) Not too happy | Pretty happy | Very happy Total
Above average 36 213 111 360
Average 81 506 263 850
Below average 173 377 110 660
Total 290 1096 434 1870

Consider the following statements:
[. The percentage of the families who are having below average income and are very happy is 5.88%.
II. The percentage of the families having above average income who are not too happy is 10%.
The correct statement(s) 1s/are

Options:
5 o Both I and 11
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Consider the following statements:

I. Response biases are common to both complete enumeration and samplhing methods,

[I. Interviewer biases arise when answers are given after getting suggestions from the
mterviewer.

I11. Observational biases cannot occur in complete enumeration.

The correct statement(s) i1s/are

Options:
T, Only I and II
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The standard deviation of the marks obtained in Statistics by 101 boys is
found to be 12. Then, the standard error of the estimators of the population mean for
a simple random sample of size 20 taken with replacement and without replacement are,
respectively,

Options:

o 1.24/5 and 1.08+/5
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Consider the experiment of tossing two unbiased coins. Let py be the
probability of two heads given a head on the first coin. and py be the probability of two
heads given at least one head. Then
Options:

e alios 1
1 P = 5 and ps = 3
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An urn contamns 12 balls of which 3 are black and 9 are white. The
following game 1s played: At each trial a ball 1s selected at random, its colour 1s noted,
and 1t 18 replaced along with 3 additional balls of the same colour. What 1s the probability
that a black ball 1s selected in each of the first three trials?

Options:

1
4. 2
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Consider the experiment of rolling two fair dice. Let A denote the event
of an odd total, B the event of single dot on the first die, and C' the event of a total of
seven. Now, consider the following statements:

[. A and B are independent.
II. Aand C'" are independent.
III. B and C' are mndependent.
The correct statement(s) 1s/are

Options:
-  Only I and III
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Consider the data set given below m the form of frequency table:

x |—25 | —15|(—5 | b [1b |25 | 3b | 45 | bb

f| 10 | 20 | 30 |50 | 80 | 50 | 30 [ 20 | 10

Let a, b and ¢ denote the mean, median and mode of the data, respectively. Then
Options:
e b=—a
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& SoGNDEIED Fai Ay e (frequency table) 2 &% oo

x | =25 |15 =5 | 5 (15|25 |35 |45 | 55

£ | 10 20 | 30 | 50 | 80 | 50 | 30 | 20 | 10

#2oe@b (Mean). S0E e (Median) eximowdaan (Mode) exdo a.b.c e gavore LBErAD. 9D

Options:

Lo a=b=c
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Consider the following statements:
I. Medain 1s not influenced by the presence of extreme values.
II. The sum of the absolute deviations of observations from median 15 maximum.
The correct statement(s) 1s/are

Options:
1 ¢ Only I
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Consider the data 2.5,22.8,23.2,33.9, 34, 55,65.7,69.8. The first (lower) quartile 1s
Options:

5 o 23
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Options:
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The geometric mean of six observations is 60. If we divide each observation
by 3, then the new geometric mean 1s

Options:
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A train runs with a speed of 80 kms per hour for the first half of the way.
Then, the train runs with a speed of 120 kms per hour for the second half of the way.
What is the average speed (in kms/hour)?
Options:
2 v 96
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Consider the following statements:

I. The harmonic mean gives the largest weight to smallest observation.

II. Geometric mean can be calculated for the data containing any real number.
The correct statement(s) is/are

Options:
;i Only 1
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(largest Weight) D700b.

Il. @S SErodo (data) &° BT oo Poay (real number) esdy e (e 0EEEOD

(Geometric mean) 2o e (Calculate) éma.
P03 DOtiaen:

Options:

n, | Seedzo

Question Number : 27 Question Id : 47163917034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the following data related to the sales of 100 companies:

Sales (¥ lakh) Below 60 | 60 — 62 | 62
No. of companies 12 18

64 | 64 —66 | 66 —68 | 68 — 70
30 10 3

=7
=

b2l |
-1
b

b
(] |

The median of the sales (in Tlakh) 1s

Options:
, o 63.6

Question Number : 27 Question Id : 47163917034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
S0 Bed W 100 TEErs DoRe) BEPoFaND BE oo,

WANE"ED (e)gerns’) | 60 ol LEVES) ‘ 60-62 | 62-64 | 64-66 | 66 -68 | 6B-70 | 70-72

TFOVOPO Doag 12 ‘ 18 25 30 10 3 2

e921)) 5P GI0E), SOEHAIIN (Median) (exgess® )

Options:

5 63.6

Question Number : 28 Question Id : 47163917035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



Consider the following statements:

[. Arithmetic mean 1s influenced by the presence of extreme values.

[I. Geometric mean is highly useful 1n averaging ratios and percentages.
[II. Median i1s mvariant under the change of origin.
The correct statement(s) is/are

Options:
i Ouly I and II

Question Number : 28 Question Id : 47163917035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
& 208 pavred drotro.

l. DQDDO Dene) SOE0MT €908 DDEFED (Arithmetic mean ) DHerdeto (Influenced) esapnenod.

1. Dyd (ratio)en sndaiw z=eaw (Percentage) en 00700 Soineses® tes MlAIEVLIVIY

(Geometric mean) DE DT EDT( DEIB0E.

. aurer Doty (Toraureaw) (origin) & Q0PN E) PO QDG (Median) <o,
HBOHD DISIIDeD:

Options:

l20Batn |1 Argsao
1. v

Question Number : 29 Question Id : 47163917036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
If the geometric means of the two sets, both of n observations, are G; and

(s3, then the combined geometric mean of the two sets 1s
Options:

, o (G1Ga)”?

Question Number : 29 Question Id : 47163917036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Tot GSePos DIV HBIVD Doaxy N o, T e GEHred GEndaid G,

e es0nEd Dol RDaeD SN ooind (Combined) e SV AV IV (Geometric Mean)

Options:



5 o (G G;) 2

Question Number : 30 Question Id : 47163917037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

A toy factory has assigned a group of 4 workers to complete an order of
1400 toys of a certain type. The productive rates of the four workers are given below:

Workers A|B|(C | D
Productive Rates (minutes per toy) | 4 | 6 | 10 | 15

Assume that each worker works for the same amount of time. Then. the average minutes
per toy by the group of workers 1s
Options:

;8
L7

Question Number : 30 Question Id : 47163917037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

2t E.}""méu 2 Tonnia) DY (toy factory )enridd H Trogtoad ooedE dodd 1400 E.S“’mév.;‘n
278 BN enfodod. DAV TPars) Baird HAT) oo DELES” Fod HODoB.

DD A B C D
B0ir0 DIeS0 4 6 10 15
{a-é"béfj a‘i":ug_,}gg

Aaren )

29 DA DA DR Wed0I0 WATPHAD. DATPFOCHD S DR W) mE&Sb
£5°0), BoirdS Hiw HOUHB TTeRw (Davonaees®)

Options:
6
6_

L E

Question Number : 31 Question Id : 47163917038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let X be a random variable such that E|X| < oo and

- 2 " ]-
P (,\ < — + J‘) = (K = E ;3:) for all z € B. Then
Options:

F(X) = 1—j and Median(X') = %

| =

1.9



Question Number : 31 Question Id : 47163917038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

T il 1
X e0:20:58 E|X| < o2 anbain P(.-‘& < _:—i—;r) —F (x ;,_T_J.)

o) o

(28 x ER £)CDHILNT &) 0 GINE (random) weord (variable Jessn&omro. e92)

Options:

: oy ) : T
., E(X) = ¢ and Median(X) = ¢

Question Number : 32 Question Id : 47163917039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let the random variable X has the probability density function

FE.L x g

ftw) =

0, otherwise.

Then, the first (lower) quartile of the distribution 1s

Options:
1. ¢ 2

Question Number : 32 Question Id : 47163917039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Xeo0a3rr Gyl G T3 (random ~.rariat:1hal}::Jt‘i_wn_mézT P02 JPoGE® DRI

1 i
: ili i i —, &> 1
(Probability density function) fx(z) = { 7

0, otherwise.
£9:008 000, 892y DeTreaso I(r:listrihauti-:m}:::3:»::@3j 2068 &cad (lower) BT FO (quartile)

Options:
1. ¢ 2

Question Number : 33 Question Id : 47163917040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



Let the random variable X has the probability density function

Sl T

(),  otherwise.
Then, the first (from the lower side) decile of the distribution is

Options:

8

> o

Question Number : 33 Question Id : 47163917040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Xeos aIrGye S werrd (randomvariable) dwg). Doardyme D

a0l (Probabilitydensityfunction)

L gy

0. otherwise,

=3

Jxlz) =

00208 oPo RIQINED 2066 (Brba Do Aol ) Drado 308, a0 ( decile of the distribution )

Options:

“8

o o

Question Number : 34 Question Id : 47163917041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the three sets of data
Dy, = {17,112, 116,121, 135}, Dy = {7,12,116,121, 122} and D3 = {20, 115,119,124, 138}.

Let a1, as and as be the meadians of the data sets Dy, Dy and Ds, respectively. Which
one of the following 1s correct?

Options:

i ] = ds = ag — o

Question Number : 34 Question Id : 47163917041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



& 208 Dl o HIneen (setsofdata) 2o aofomro.
D,= {17, 12, 16, 121,135 }, D, ={ 7, 12, 116, 121, 122 } soBais D; = { 20, 115, 119, 124, 138 }
Dy, Dz, Dyo oiog) docsgriedanen (medians)a;, a,, a:e0 e08omro. & $0d ordes® J6 HBALD PIDBHAW.

Options:

i ] = g = adg — o

Question Number : 35 Question Id : 47163917042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let the random variable X has the probability density function

i P o o i "
e —hf < T < ._]EL =0
fx(z) =1 ¥ :
(. otherwise.

Further, let D); denote the ith decile of the distribution, i = 1,2,...,9. Then, (D3 —
Dy)(Dg — Dy) is

Options:
o> o 87

Question Number : 35 Question Id : 47163917042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Xeos 03°C,edN 8 w003 (random variable) ciwg), Dozragee Jrogey DAoL (Probability density

function) &

1 AR, "
= Rz <b0 01
Jxlz) = e : pa08 oo,
0, otherwise.
I SRR 9 ) i o Derado ML) GFDL0 (decile of the distribution) & D2,

e (D D,) (DD,) 95056

Options:
5 o 8f?

Question Number : 36 Question Id : 47163917043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

If the geometric means of the first set of n observations 1s G; and that of
the second set of 2n observations 1s G, then the combined geometric mean of the two
sets 18

Options:



s {Gi'ﬂ%}lﬂ

Question Number : 36 Question Id : 47163917043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
2008 N HBFee HING cﬂngzr ioea mémc (geometric mean ) 02058 G, 20bain Jocd 2n HBJerHe)

PIOG GI0g) M DG 9008 G, 230005 Do DI Poainsd (Combined) b 060

Options:
G1G3)'/3
3.1&?{ 1“3/

Question Number : 37 Question Id : 47163917044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

If the harmonic mean of first set of n observations is 2 and that of the

second set of 2n observations 1s 6. then the combined harmonic mean of the two sets 1s

Options:

13

Question Number : 37 Question Id : 47163917044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

20GE N HBIHe DI g, rores e Sucsganan ( Harmonic meaﬂ}; S0B03 Boctd 2n HBJwder
alned fﬁ_uéb W@éﬁ IB.J(';'}TSI).}IIJJ 6 e20083 & Do) AdLdoe Dooing ;:rﬂﬂﬂqjég m@mm —————

Options:

1o 3

Question Number : 38 Question Id : 47163917045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let the random variable X has the probability density function

L
Fle) ;i—, if3 < x<4
x\T)=4 " !
0, otherwise.

Then. the harmonic mean of the distribution 1s

Options:

74
o oo T



Question Number : 38 Question Id : 47163917045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

g OIS S0TeD (random variable )x D08, Do §e Jroed pavaian (Probability density

function) 3% G ged

flz) =1 5

0, otherwise. es0E oo.

egantd Derando ( distribution ) G308, ST, € D0EH0HW { Harmonic mean) ---

Options:

e |
2. a1

Question Number : 39 Question Id : 47163917046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let the random variable X has the probability density function

3

L T ife<x<e”,

Fifi) =g TR s

It
0. otherwise.

If G denotes the geometric mean of the distribution, then In G 1s

Options:
2
> o In3

Question Number : 39 Question Id : 47163917046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
X c::iﬂﬁ;{hag oo (random variable )x D08, DoTOE Jroged Danoaw (Probability density

function)

a

] 1 ite < o< e”,

h{‘r]: Ing zhnz .
' 0. otherwise. e 0E oo,

G e9:056 DeFeacdo 030E), (ESDEI0 ( Geometric mean of the distribution) 2 crHY. e92ned .G
Options:
2
> o In3

Question Number : 40 Question Id : 47163917047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



Let the random variable X has the probability density function

].2.1“ l::l .T]. ].f [:,] '5": nll = ].n.
f\', {-‘EI} e
F . iy

(. otherwise.

Then, the mode of the distribution 1s
Options:
2
4.4 3

Question Number : 40 Question Id : 47163917047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

2t Q:ijﬂ{:-‘\,&aé oeooed (random variable )x -:fmé& LIy 5“{:@@ 220030 (Probability density

function) 12:2(1—z), f0<z<l,
fx(z) = ' :
0, otherwise.
2203 DeFarado a30g), earovdo(Mode of the distribution)
Options:
2

4.4 3

Question Number : 41 Question Id : 47163917048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the following statements:
I. A distribution is skewed to the left if the left tail is longer than the right tail.
I1. A distribution 1s skewed to the left if the right tail is longer than the left tail.
Which of the above statements 1s correct?

Options:
1. v ]

Question Number : 41 Question Id : 47163917048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



& Sobd POt enE oo

I. €& &< (right tail)go8) dedo F8 T I ol &8 Derado &) JEa) PN

P (skewed to the left) esotra.
1. dean ¢ (left tail) ol Ol &g Ty I D ol &3 Derardo & I PHD
ey (skewed to the left) esotran.

2 DHaSAa00S” DBAHA I P
Options:
. W ]

Question Number : 42 Question Id : 47163917049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

(Given that the mean and the standard deviation of a distribution are 25
and 4, respectively. If Karl Pearson’s coefficient of skewness for the distribution 1s (.75,
the value of the mode 15

Options:
2 & 22

Question Number : 42 Question Id : 47163917049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

2.8 Derado g, HTPHB S0BoIw HaTe Jwedo(Standard deviation )en Eavore 25 awBaing.
& Deraded © Eﬂ%"aa;j@ (Skewness) o30E), g6 Habd ‘mﬁg (KarlPearson's) rmedan 0.75

eso0ed eaoveo (mode ) G308, Dewsd -~

Options:
gk hE

Question Number : 43 Question Id : 47163917050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Let the random vanable X has the cumulative distribution function

14 3y
e 7" d

|_1' ]-
Fx(z) = / it g ., —00 < I < 00.
J—oo N gfl'l_

Then, the coefficient of skewness equals



Options:

1.0

Question Number : 43 Question Id : 47163917050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Xeoso 0 Ge)NS oo (random variable) 03g), Dol Dered HAOA

(Cumulative distribution function)

. 2 1 I 3132
Fy(z) = f eV dt, —eo <z <.
) o V2T

e300 oo,

RIZIIEED fﬂﬂ“‘gﬂu e (Coefficient Skewness) -—----—- &) oS,

Options:
.9

Question Number : 44 Question Id : 47163917051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The wvariance of a distribution 1s 36. The values of the fourth central

moment (geq), in order that the distribution be platykurtic, should be

Options:
less than 3888

s

Question Number : 44 Question Id : 47163917051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

208 Dereado 03E), Dy (Varance) 36. FPOD SoHosd 2omag (Central moment) ( ) es Deraado Hed
Surendo (platykurtic }@cﬁ_‘:ﬁuﬂ oD Sofhoh Dresd Central moment) ( ) 308, Densden —----

Options:
- 388808 @QJET:}

Question Number : 45 Question Id : 47163917052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



If minimum, first quartile, median, third quartile and maximum of some
data are 100,110, 115, 160 and 220, respectively. Then, this data corresponds most likely
to a distribution that is
Options:

5 skewed to the right

Question Number : 45 Question Id : 47163917052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

w€ Ggrodo (data) oing), e9dd @€ D (980,200 SeE80GPoF0, DOEHIBDD, DIPED BBTroFoSBAIL
0983 D) & (BPRen) Savanore 100, 110, 115, 160 adadiw 220. & Gerosa) ——---- T e SR 1=

aom;bgqnél&.
Options:

AP BPRaD
i 4

Question Number : 46 Question Id : 47163917053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Bowleyv's formula for measuring skweness in terms of quartiles 1s

Options:

O+ —20
3 'i.j Eu}:] _Q'I.

Question Number : 46 Question Id : 47163917053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
SEOTEoT) (Quartiles ) Horexs® Eﬂ%"?;q.;jé (Skewness) & ety eFeF faredo (Bowley Formula)--
Options:

Q3 + Q4 — 20,
4 Qz — Q1

Question Number : 47 Question Id : 47163917054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



One of the defining features of a smartphone 1s how long it can stay
standby mode on a single charge of the battery. Based on data from smartphones available
from major cell phone carriers in the United States in 2014 (and relying on the fact that a
manufacturer’s claim of the standby time 1s accurate), the distribution of the standby time
approximately follows a normal distribution with a mean of 330 minutes and a standard
deviation of 80 minutes. What percentage of smartphones have a standby time below 230
minutes?

(Given that ®(1.25) = 0.8944, where ®(-) is the cumulative distribution function of the
standard normal variate. )

Options:

5 10.56%

Question Number : 47 Question Id : 47163917054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
28 0 ereabd °f 3% Joed i) Eotoll DG &5 F'D g, we GEpaw. 2014 &° RBE Py &°

(oo esTPGorT, Jogd i) Gotwolies GTrodo g, Derado (Sarsomr ) 330 DA HoEbe
ﬂnma?s Deraxsdo (Narmal distribution) 20, 80 Hdware Dare Doedo (Standard deviation) 20 Jréood.

230 Dawarer €oél 553, D SPOAD o 265 IS & s Jdoed ? [D(1.25) = 0.8944e0D -3535&}('.:..;'3&-.
ararad a»mqu Des6o (Standard normal variant) ding), o Derad SRV @(.)ead Bgro.

Options:

5 o 10.56%

Question Number : 48 Question Id : 47163917055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

A company has three sections A, B and " with 40, 50 and 60 employees,
respectively. Their average weekly wages are T400, ¥ 350 and TH40. Their respective
standard deviations are 5, 7T and 9. Arrange the sections from smallest to largest variability
in wages, relative to their means?

Options:
zv A, C, B

Question Number : 48 Question Id : 47163917055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
s So7 G0 5° St evrrrey ALB 208ain ¢ en, Savore 40, 50 subain 60 &{‘S?Smw &™) . 0

TG0 — O DB & 400 ar|[en, 350 or|[en.c0Boin 540 or|[en. 578 a3g), aPaorels
Dseren (Standard deviation) Savorr 5.7 2080w 9 . o0 HTEROS Doeodetorr ard Bareres ;}QJE)_{)

(Largest}ﬁo@so (variability) svod BEY.D (smallest) 7= eorreny AB.C e wmdam:?..



Options:

5 « AC.B

Question Number : 49 Question Id : 47163917056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

5 outcomes of a random variable were recorded. The sample mean and
the sample variance of the recorded data are 0 and 2, respectively. It 1s discovered later
that two outcomes were recorded incorrectly: one outcome was recorded as —3 mstead of
—4 and another outcome was recorded as 1 mmstead of 2. What 1s the correct variance?

Options:
> o 4

Question Number : 49 Question Id : 47163917056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
QITCSINSE DOT Y AN DA DLV TroDEo 2Bhod. dgrogo AINS) O DTG (Sample

mean) anBoin ard8 DS ( Sample variance) en Savore 0 dBOIL 2. B0°(S SPe0e)” Gerodo &
00 DeNDBRD BT (incorrect) TPRHLD MDD, -4 A -3 A, Tocdd 2 cen 1

Troco 28008, SNSDD DYd (Correct Variance) doe ?

Options:
2 &4

Question Number : 50 Question Id : 47163917057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Let X; and X5 be two random variables with Var(X;) = 1, Var(X,) = 2
and Cov(X{, Xo) = 0.25. Then, the variance of X + 2X5 18 given by

Options:
» o 10

Question Number : 50 Question Id : 47163917057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Var (X;) = 1. Var (X;) = 2, 208as» Cor ( X, X;) = 0.25 escDgertn Socd a:ir"cﬁaé};ﬁ ST R

X1, X0 SrnEomro. i X+ 2X, 0308) Dipd ( Variance)------

Options:
5 o 10




Question Number : 51 Question Id : 47163917058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Consider the following statements:
I. The range of the data —5, —3, —10, 5, 10, 35 is 45.
[I. The range is invariant under the change of scale.
[II. The range 1s invariant under the change of origin.
Which of the above statements is/are correct?

Options:

Only I and III
3. ¥

Question Number : 51 Question Id : 47163917058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

& Sofd DaTred) drEorro

l: &grodo -5, -3, -10.5, 10.35 s, o7jw (Range) 45.
Il: Bt (Scale) 50 LY 01D 5052_:3 ArccH (invariant).
Il sorrea00 (Origin)en Sorcine Do T2 aFoc.

2 Doudanee)’ JE/ID HBGHDD

Options:

| 080w Il Soeesdo
3.

Question Number : 52 Question Id : 47163917059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Lot X, X ..o X, beiid. N(3,25)andlet¥; =22 i=12...,n

Then, the distribution of 31, Y2 is

Options:

. positively skewed
o .

Question Number : 52 Question Id : 47163917059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



Xii X X, e Lid.N(3,25) 0o ¥V = 22 i =1,2,..., n. e oo

Lo T Z;—1 }"‘ ‘G308 Deresdo (distribution) ------------ e9s)EhI08.

Options:

SeTed), Sorr @5“?;.1.:1:1:3 (Positively Skewed)
3. v

Question Number : 53 Question Id : 47163917060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let X and Y be such that X = 2Y. If the median of a symmetric
frequency distribution of X is 50 and the coefficient of variation is 40%, then the variance

L'Jf }f i::

Options:
2 « 100

Question Number : 53 Question Id : 47163917060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

X = 2y eoclogeotn x S0B0in y oo ddufomro x oing Ao Fd: Py Derado (Symmetric
Frequency distribution) d3ug), 206§ (median) 50 Sudoin Dodeso (Variation) alng), (oego
40% es0006d y G30g), Dy (Vanance) -------- e9:)E8I08).

Options:

= « 100

Question Number : 54 Question Id : 47163917061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let Xq, X5, X3 be a random sample from N(p. 1), g € R. Let

i L R 3
TIZ_Hl—i--l}lg—i-J}ig LZ :{_“

7 ; N
and Var(T;) = o7, i = 1,2. Which of the following is correct?
Options:

3 o
5 o T1> 02

Question Number : 54 Question Id : 47163917061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



N(p. 1), pe R dod Xq, Xy, X3 e MPQ;{’JQS 288 (random sample) ess0fomro.

3
i Xi+4Xo +9X, 1 2
T = - , Ty= 7 ,-E=1 (X —p),

0800 Var(T}) = o2, i = 1,2. ©90800r0. & 208 ore8® DA HBEHAE ?

i
Options:

2 2
Eﬁ?J]}JE

Question Number : 55 Question Id : 47163917062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

One of the patients in the ICU study had a high systolic blood pressure
of 204 mmHg and a low pulse rate of 52 bpm. Which of these values is/are more unusual
relative to the other patients in the sample? (The summary statistics for systolic blood
pressure show a mean of 132 and standard dewviation of 32, while the heart rates have a
mean of 99 and standard deviation of 27. Assume that the distributions are normal for
both the blood pressure and pulse rate.)

Options:

_ High blood pressure
i 4

Question Number : 55 Question Id : 47163917062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
ICU &5° 00y @8 Bhs Jey 5 ogFen (blood pressure) 204 mmHgoBoin ey o o¢ e (pulse rate )
S0, TGS DA Briver & TD\HS & Deodees” IB/ID Iy e oo (unusual). (og Feo
Domoes® FroaeTd Sory c5dfen oo (132 2Bosw pATBDBON0 32, ok Eensyd (heart rate) o0
99 s0Boin PArRdSwdo 27. 68 Fen, Td Ben Sodo GINE). DD e Fardgaw (nomal) ol Bdfocro).

Options:

25y ogdFen(high blood pressure)
1. i

Question Number : 56 Question Id : 47163917063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the three random variables X, 5X and X /5. where X ~ N(5.3).
Let vy, vy and vy be the coeflicient of varations of these random variables, respectively.
Which one of the following 1s correct?
Options:

Lo ==



Question Number : 56 Question Id : 47163917063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

wa(m}mmal S0T°E0) mm;,a&g weoraven (random Variables) X, 5x sndain X/5 oo
S0Forro. § 0EEIINE DOTPRO 0InE) Dasere reesten ((Coefficient of Variations)
SaD0TT 1y, UV a0B0ID V3 e0E oo, &1 S0 areS® D& HBEHO.

Options:

1.9

Question Number : 57 Question Id : 47163917064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let v; denotes the coethicient of variation of the distribution of X;, where
Xi~ Bin ((i+1)?, 5), 7= 1,2,3. Which one of the following is correct?
Options:

5 of ty > Ta > 14

Question Number : 57 Question Id : 47163917064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Xi~Bin(((+1)722) 0 =1. 2. 3 exchogeotndy Xio ding, Dasede aing, daoere st (Coefficient of

Variations) < 1,2 bdgro.

& SoB rDES’ DA HBGDHA.

Options:

e > v, = vy

Question Number : 58 Question Id : 47163917065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let the random wvariable X has exponential distribution with mean 1.
Then, the IQR of the distribution 1s

Options:

5 In3

Question Number : 58 Question Id : 47163917065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



Qg D0Ted X 9-0d8 Rom0 | & Jorerod Deraso (exponential distribution) o £9A
o0 & eo 08 otro. LETPEM0 o?mﬁb mﬁﬁﬁtﬁﬁ (the 1QR of the distribution) ------ 2250008

Options:

3»;4"”3

Question Number : 59 Question Id : 47163917066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the three data sets given below in the form of frequency tables:

% | F % [ F s ol i
—3 |1 a: ] 111
—212 4 |2 < 1
—113 3 |3 3|3

i |5 2 |4 414

1 |3 1 | B D15

|| 0|6 6|6

3 |1 —1 |7 i |F

Let 1, 72 and 9 be the Karl Pearson’s coeflicients of skewness of the above data sets,
respectively. Then

Options:

i T 0,72 >0 and 43 < 0

Question Number : 59 Question Id : 47163917066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

ﬁ)"é:‘&g}f)ﬁ D arHoes’ Soo RHEIED M GTrod e (datasets) o SEomro.

: o I x | £ x | £
—3 |1 & |1 : |1
-2 |2 i |2 2 |2
—1|3 | 3.3

b s 2 |4 414

I |3 1 | B | B

S | 0|6 6|6

a |1 e | & |

& BEP0F DIV L), w%“;qéam (Skewness) a3 86 oD 20 rbeesren (Karl Pearson's Coefficients)
500 ¥, VzanBoin yz en edoEotro. eainch

Options:

i ri= O, y:=0 08cdwy: < 0



Question Number : 60 Question Id : 47163917067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Consider the following sets of data:
Dy = {15,15,25,25,35,35,45,45} and D, = {10,20, 30, 50,60, 70, 70, 80}.

Let 5y and s denote the Bowley's coefficient of skewness of the data sets Dy and Ds,
respectively. Which one of the following is correct?

Options:
=% J"" 3] — 0 ,-'__32 = ﬂ

Question Number : 60 Question Id : 47163917067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0.33

& 200 o lnae (data sets) Ho Grnfomro.
D,={15, 15, 25,25,35,35,45.45 };a0bain
D2={|0. 20, 30, 50, 60, 70, 70, 80 }

Dy508050 Dye 6308), @%’Q&jﬁm (Skewness) 308, & rrdan (Bowley's Coefficient) exdo B, SuBoin

B2 e0re S0 (1BTro. &1 Sobd PR’ DB DBIDHA.

Options:

3 \“./-"? ﬁ1= [}.ﬁg‘::n

Question Number : 61 Question Id : 47163917068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
[f the correlation coefficient between the heights and weights of 49 boys 1s

—: then the probable error of the correlation coefficient wall be

Options:
0.6745
- o 16

Question Number : 61 Question Id : 47163917068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

49 2006 DY STPoEa3E), Jehy S0B0ID e 0GR DoIBE (egan (Correlation Coefficient)

; eas0F oo, @92 P Doty rbegan C30E), Doy &0 (Probable error ) ------ £9:)E8008.

Options:



0.6745

Question Number : 62 Question Id : 47163917069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Consider the following statements:

I. The pomnt-biserial correlation 18 a special case of the product-moment correlation.

[I. In the point-biserial correlation, one variable 1s continuous and the other variable 1s
binary (dichotomous).

Which of the above statements is/are true?

Options:
2 Both I and 11

Question Number : 62 Question Id : 47163917069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
& Sobd DovTrer drwotPo.

l. Hocso — A WA DT DoeIoto {Point-hiserial Correlation) e2:50:58 A £Pa0E D50 oeotso (Product —

moment Correlation) Olns), s Q@ﬁs‘. PI0CCH .

1. Hocay — &:5 S mar Poesoco (Point-biserial Correlation) &Hoco 2 Seoe? E}D%éim} (Continuous)

20Bain HFE Beooed oA (28005, dichotomous). 2 o0¢3eS” Hasdan(en)

o0 (true)?

Options:

508030 |, Bododhr
3 v

Question Number : 63 Question Id : 47163917070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let X and Y be two random variables. Further, let X* = X + 3 and Y* =Y /5. Then

Options:

- Cov(X*,Y*) > Cov(X.Y) if, and only if, Cov(X.Y) < 0
4.

Question Number : 63 Question Id : 47163917070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



X.Yew Dot OIPEXNE SOTPRRD dDBO X+ = X + 3 S00aid Ys = ¥ /comfotro. enipe

Options:

i Cov( X+, Y+)=Cov (X, Y)= Cov (X, Y)< 0

Question Number : 64 Question Id : 47163917071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Following are the data related to the temperature on a particular day at
six places of Hyderabad measured by two different instruments:

Place A B € B E F
Temperature (in °C') by the first instrument (X) |35 32 34 36 33 35
Temperature (in °C') by the second instrument (Y) | 34 31 33 35 32 34

The correlation coefhicient between X and Y 1=

Options:
3¢ 1

Question Number : 64 Question Id : 47163917071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
8 Ber Dot D D HOLCAVOE FFETrered 670 e Hodwee” aifintn HEBodd GoroFaw Sod

@é&m&é&

Qo A B 5 D E F
Z0GE  DHBLo
(X) & eFdes(°C) 35 32 34 36 33 35
DoGandgoan
(Y)FeFos(°C) 14 31 33 35 32 34

X S0Boin Yer aneif maT® Doeotd restan (Correlation Coefficient) ---- eas)es0ob.
Options:
3. v I

Question Number : 65 Question Id : 47163917072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The correlation coefficient between X and Y 1s r. Define U = X/2 and

V' =Y/3. Then, the correlation coefficient betwenn U and V' is

Options:
1. ¥ T



Question Number : 65 Question Id : 47163917072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

X 308050 Yer 2065 D Poe0ds (esam . U = ¥/, a08amo V = ¥/ e Dogderaw.
e9:)CD UanBain Vey anesy @33 Moo reedan ( Correlation Coefficient) ---- esspedood.

Options:
1l F

Question Number : 66 Question Id : 47163917073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Let X ~ N(0,0?), where o is a positive constant. If ¥ = X" where n 18
an even number. then the correlation coefficient between X and V¥ 1s

Options:

Question Number : 66 Question Id : 47163917073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
g€ G5 fg{j ord soboin X ~ N (0.0°) esf0%0mRo. N 9058 st Broay 080D Y =X" esced X s08cin Y

© SG e Posod (g ———— e9a)E0od).

Options:
4« 0

Question Number : 67 Question Id : 47163917074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
.ne {0,.+1, 42}

L] =

Consider the random variable X with P(X = n) =

Let Y = X2. Now. consider the following statements:
[. X and Y are mdependent.
II. X and Y are uncorrelated.

Which of the above statements is/are correct?

Options:
5 o Only 11

Question Number : 67 Question Id : 47163917074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



P(X=n)= % n€ {0,11,+2 } esciogeotnady g alreyn S ourd (random Variable) X &0 Sroforo.

Y = X* eso€orro.
& 20d HovTrey dwntonro.

I X 208050 Y en Dogssen (Independent).

I. X S0Bain Y e @i Moo diyedanen (Uncorrelated).

2 poodavees® H6che (D) D ?

Options:

Il Soeein
o ¥

Question Number : 68 Question Id : 47163917075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

- - . 0 :
Let X{, X5, X3 be a random sample from N(0,o°), where o 13 a known
constant. Then, the correlation coethcient between X + Xo and X5 + X5 18

Options:

Lo | et

3

Question Number : 68 Question Id : 47163917075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

0RIEEIVG T3 Xy, X, X;e0:08 N (0,07 )d008 ew OIFERNE 000 (random sample) ess0F omro.

29D X+ X,a08030 X,+ X0 206 e Doeos ecan ( Correlation Coefficient) ---- esanesod.

Options:

1
3. 2

Question Number : 69 Question Id : 47163917076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
While calculating the Spearman’s rank correlation between X and Y, 1t 1s
found that the rank 1.5 18 repeated twice in the ranks of X, the rank 2 is repeated three
times 1 the ranks of ¥ and there 1s no other tie in the ranks of X and Y. Then, the
corrected factor, which should be added to Y, d* to calculate the rank correlation, is

Options:



Question Number : 69 Question Id : 47163917076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Xanbaow Yo S0 hnjoj:f:- ;5}5;}&5 7 mokoto (Spearman’s rank Correlation) @gb
DoIDINED & S0d INoiren 3DJron:

X cog), Eedexs” & 1.5 Gocd g HDyod.

Y ciwg), Edees” B 2 s Jrm SD\od.

X 20800 Y o Edexs® 380 (tie) e Fon.
9D £ 20 Doe0raN T ot Y di ) €enHoed DHBoDD SPEEa

(Corrected factor)---- esaneiood.

Options:

i 2.5

Question Number : 70 Question Id : 47163917077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the following statements:
[. The value of the correlation coefficient does not depend on the variables’ units.

I1. The correlation coefficient does not depend on which vanable is treated as the re-
sponse and which as the explanatory variable.

Which of the above statements 1s/are correct?

Options:
5 o Both I and 11

Question Number : 70 Question Id : 47163917077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

& Sofh DaTreRL aruEorro.

02 Hood (eadandens (Value of correlation Coefficient) e:058 GOT300 DT IR
(Variable Units) 2 esrddaco.
1. 1. D seora Hamoo TP drufoernr (Variable treated as response) s08oindBE Dode weoes

(explanatory varable )z i Doerod (eSS0t DEGD.

DD DIBTO” DB/ DOTIS ?



Options:

laodosw |, Bocoar
o

Question Number : 71 Question Id : 47163917078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Consider the following statements:
I. A scatterplot is a graphical display for two quantitative vanables.
[I. If the data points on the scatterplot are around a line, then there 18 always positive
correlation between the variables.
Which of the above statements is/are correct?

Options:

i o Only 1

Question Number : 71 Question Id : 47163917078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
& Sod povTro grus oo,
l. Dy ocd (scatterplot) e9:056 Toco DBAETe & (quantitative ) deroraver B @,m;}.:a
(graphical display).
Il. DS pods D oo Docianen g Ta BT Sofl BN & ST R JOGY

rﬁm@éé a7 wosocdo (Positive Correlation) ;)%)Q}:jcfm &0,

2 DooHanee’ DA/ HBgHHE 7

Options:

Question Number : 72 Question Id : 47163917079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



An mmvestigator wants to arrange the 10 items on her scale of language
impairment on the basis of the order in which language skills appear in development.
Not being entirely confident that she has selected the correct ordering of skills, she asks
another professional to rank the items from 1 to 10 in terms of the order in which he
thinks they should appear. The data are given below:

ltems & B S DK & BT 3
Ranks given by the investigator (X) |1 2 3 4 5 6 7 8 9§ 10
Ranks given by the consultant (}Y') [ 1 3 2 4 7 &5 6 8 10

The Sperman’s rank correlation coefficient between X and Y is

Options:
n
5 o 13

Question Number : 72 Question Id : 47163917079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
ZEVENA 5° £330 amal DINEtad esrCoTe 655 erar Eewd (Scale of Language) 2 esorond 10 Dioiresn

g HBVLTTED 900y BODADA. B0 VO o I FI) o Tor 93 0900006 e 8 ooy

(Professional) D &y eadtfod. GEPoda So @ﬁsmdo&m.

Daobaven(ITEMS) | A | B | C | D | E F |G| H | J
DOIVDHD (x) B0EY, | ] 2 3 4 | 5 B [F | B 9 10
a0
R0z () 1 |2 |2 |4 | F |5 |6 & |18 3
Ging), gave
X a0B03n y © 06 ?\330:535 in.f);j?e?j e woeocio ((Spearman’s rank Correlation) fegand ... e9aNE006.
Options:
3
% v 13

Question Number : 73 Question Id : 47163917080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the following data:

&3 B T 9
7 | TE 11 08 =%

If one pair of (z, y) values 18 removed, the correlation for the remaining four pairs equals
—1. Whach pair 1s 1t?

Options:
i (5, 10)



Question Number : 73 Question Id : 47163917080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
& Sob SEroTy e3:008 oo,

X 1 3 5 7 9

X 17 11 10 =1 o

2.8 26 (x,y) Denoden Fohd DADI reh e D Dototio (-1) 200, ead 2 ae ?

Options:

oy (5, 10)

Question Number : 74 Question Id : 47163917081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33
Let X and Y be two random variables such that X + Y = 3. Consider
the following statements:
[. Cov(X,Y) = Var(X).

II. Correlation coefficient between X and Y 15 —1.

Which of the above statements 1s/are correct?

Options:
o o Only 11

Question Number : 74 Question Id : 47163917081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

X +Y = 3 eaddyeere X s0basn Y ew Socd wmﬁ.}gs LIOTPROED.,
& Sob ROUTrU drngotro.

I. Cov (X.Y) = Var (X)

. X s0Bain Y e awesg R dototiieetan (-1)

2 powrees’ DA/AD DBGHHD?

Options:

5 Il Soeedan



Question Number : 75 Question Id : 47163917082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
For which of the following data sets, it 1s appropriate to use the correlation
to measure the association between two variables?

ATE |1 3 5 7T
Y s o m| = Ay 1 W8

Options:
> o Only Dy

Question Number : 75 Question Id : 47163917082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

& 08 DDWAD Seros HIndoe (datasets) 65, D 0D GIroF HDIVL) LICIF BOTHOR

065§ E)omoc_sﬂﬂli Fencintrdy mor oo afad 7

vy 8| ¥ =3 |#
[}1:
Y | 47 | 36 | 24 | 37 | 48
2Bain
" BEREREAFAE:
£ v (8| @ | w06l 2
Options:
E_JDEWQ&

Question Number : 76 Question Id : 47163917083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



Let ry = 0.09, r = —0.38, r3 = 0.89 and ry, = —0.81 be correlation values.
The correct matching of these values with the scatterplots given in the following figure is

(Ecater Pl 8] (Ecatertici ¥ Eoater P 4] {Boatter Pt &)
z 3 - 2 3 2 3
a e ] 13
1 + - & 0¥ 1 E Ll
rURRE L] - i
> 0 1 . = 0 5 * " = U LB " 3 i
-
14 3 -1 % 14 -
+
-2 2 -2 3 -2 3
T T T T T T T YRR LT LR R} T T T T T T T
2 1 o 1 2 2 1 0 1 2 2] 1 o 1 2 2 1 o 1 2
X X X X
{a) (b) (c) [d]

Options:
3 v '[:'rl,l':)._ {Tﬂ-. ﬂ-}, [rl};d) B.-Hd (T4,b)

Question Number : 76 Question Id : 47163917083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
r,= 0.09, 7r,=-0.38, r;= 0.89, s0baiwr, = -0.81, endir Hoeoss Denden (Correlation Values)
306 DIWEN L5200 DY wod.sen (Scatter Plots) @dRIEIHD. PN DDV DY VoS
e 0 0 DB 26 S0yl

(Scafer Pini &) (Seaser Fict 4] it Py 1) [Baaiter Bani 5]
23 g 2 3 23 .
14 = 17 13
» 0 » 0 = 5 0 » 0
i 3 -1 3 x 15 )
— 5 2 4 -2 4 2 3
LSRICY T T LNE | T T o X T T T T LI By T T
2 1 o0 1 . 2 i 0 1 2 2 1 0 1 3 2 1 .0 o
X I X X
(a) (D) (e (d]
Options:

3. v (r1,¢) . (12a), (13, d)s208030(1y, D)

Question Number : 77 Question Id : 47163917084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Given that the Spearman’s rank correlation coefficient beween X and Y
is 0.9 (when the rank 6.5 is repeated twice in the ranks of Y). If I, d? = 5.1, then the
number of observations, n, 18

Options:
3¢ 7

Question Number : 77 Question Id : 47163917084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33
X 20001 Y & 06 é'o;jcmﬁ S0y &6} s Doeocormesan(Spearman’s rank Correlation

Coefficient) 0.9 (Y &°2 Edexs® 88 6.5 Gocd Fd a&&a@m) 090 QHWEHO.
Y, _ d?=5.1,0008

DBIVHe (Observations) Woas n = -—----

Options:
3¢ 7

Question Number : 78 Question Id : 47163917085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider a random variable X with the probability density function

: L —W<z<2:86>0
Txlg) =14 2

(0. otherwise.

Let Y = X* and Z = X3Y. Now, consider the following statements:
[. X and Y are uncorrelated.
I[I. X and £ have the same mean.

HE. P <¥ 160" =1

Which of the above statements is/are correct?

Options:

AllL IT and 111
4 &

Question Number : 78 Question Id : 47163917085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
X 01}“:‘;3;,5]&5 DOTrd adoin o) 08, Doaraies Jro@es pavonaw (Proba bility density function)

T " !
E,Lf—ZH«:T_x«ﬂZH.H}D

0 siksiiides 08000, Y = X'aDBOILZ = Xy D &wEocro.

X)) = {

& Sod podTred daulomro.

. X soBcin Y en D5 Hood Saradaw (Un-correlated ).
Il X 08030 Y en 28 Hornd QM&L’).
N.p(0=y<160*)=1

2 Dowreest 28/ DD HBEHHD.



Options:

L. Iz208a030 I, @EJ:L.
4. <

Question Number : 79 Question Id : 47163917086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Let the equations of the two regression lines be TX —4Y =28 and 2Y — 7X = 14.
Then, the correlation coefficient between X and Y 1s

Options:

1.¢ 1/¥2

Question Number : 79 Question Id : 47163917086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Boc 2GS ( regression) Sa( line) & “drEomdnen 7x-4y = 28 2oBaoin 2y — 7x = 14

29:305003°0.29:)60 X 2080010 Y © 2065) DI D0e30e DS —-----

Options:
1

1 v V2

Question Number : 80 Question Id : 47163917087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let Z; and Zs be two independent N(0, 1) random variables. Define X = Z; and
Y =pZ + U“'J_—I,qf Za, where p € (—1,1). Then, the correlation coefhicient
between X and Y 1s

Options:

1w f

Question Number : 80 Question Id : 47163917087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Zi@oBainZ, enBocd Rygsogs N (0. 1) oireydy 8 weoegoen.

pE(-L1), X = Z 8oy = pZl + 1 — pZ, 0225 dgro.

eanca X aoboion Y o 2063 Fsr dotocrbmsaw (Correlation Coefficient) -—--- £9a)Eh006

Options:
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Question Number : 81 Question Id : 47163917088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Consider the following statements:

I. An index number may be defined as a measure of the average change in a group of
related varables over two different situations.

I1. All the commodities included in the index number are always of equal importance.
Which of the above statements 1s/are correct?

Options:
1 o Only I

Question Number : 81 Question Id : 47163917088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
& Sob DoOTrer gt oo,
l. 208 D Doay (Index number) 2o * BocDBYD “’n:rncﬁmaem'iﬁ Z10830606h CIRTFHVL DO0FaToeS

20700 Ardyy dlug) e © e DOLIoDaNN.
1278 Dosxges” Send et ey HDeD DATFSDD A SDACIETOD.

2 pawrees’ DA/JD HBADHD

Options:

e, lSPeian

Question Number : 82 Question Id : 47163917089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Let pg and p; denote the prices of a commodity in smtable units in two
situations denoted by ‘0" and *1°. Now, consider the following statements:

I. The actual change in the price of the commodity from ‘0" to ‘17 1s given by p; — py.
I1. The relative change in the price of the commodity from ‘0" to ‘1" is given by po/p1.
Which of the above statements is/are correct?
Options:

1« Only I



Question Number : 82 Question Id : 47163917089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Dot DM DA ‘:bocaoﬂgueﬁb 28 DR DD & P <WBOILP; T HBOLLEFAN. DOGTOIRD
0" Sododw 1" e rbbgro.
& Sob poavTre drufotro.

. D0 Dewd 07 ol T & DI TRDT AFEND; — Py V0B,

1. T oo '1" 2 DTN DY) Dees” Poesobed QA (relative change) Yo, ensneio0b.

L
2 Pourees’ DH/AD HBAHLHD?

Options:
1 ¢ [ ﬁ?@ﬁ_‘}

Question Number : 83 Question Id : 47163917090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the following statements:
[. In construction of index numbers, the base period should not be too short.

I[I. The average price for that period may smooth out some mimportant Huctuations.

Then
Options:

5 o L1s true but II 1s not the correct explaination for L

Question Number : 83 Question Id : 47163917090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

& Sob Do anEoro.
. darde RN b&éﬂm@ﬁa eserG aooiso (base period) eads zﬂ‘ﬁi& e i,
II. es Hooes” £y awand wdaeoe (fluctuations) Do DTS Dend BB,

RO

Options:

5 | Deazson. 18, 11 BB Ddces (explanation) seeso.

Question Number : 84 Question Id : 47163917091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33
Which one of the following is NOT a method of forecasting?
Options:

5 Interpolation

Question Number : 84 Question Id : 47163917091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

& 208 T76e5° DA 2D e (forecasting) DB .

Options:

espe30C S0 (Interpolation)
3 ¥ % ;

Question Number : 85 Question Id : 47163917092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Consider the following statements:
. In time series analysis, business cycles always show regular periodicity.
[I. The cyclical variations are of a longer duration than a year.
Which of the above statements is/are correct?

Options:
5 o Only II

Question Number : 85 Question Id : 47163917092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

& S0 DatTres aaoSoro.

|. Sre» Bed ;’Jﬁt’qmﬁ“ ;Féﬂvrzs oo (Business cycle}ﬁy‘@sm g0 emga»:ql (regular periodicity) 2
Ga3a006).

II. e5&oit Dessezmen (Cyclic Variations) asg PoDeGo £oé3 .DQ:%;:} EofTo.

2 noorees’ DA/ LOADID

Options:

5 o Il Soeedan

Question Number : 86 Question Id : 47163917093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



You are given the trend equation:
Y =35—2X:; origin:1995; time unit: 1 year.
If we shift the origin to 2008, the trend equation will be

Options:
e Y=9-2X

Question Number : 86 Question Id : 47163917093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

2en@ (trend) HOLEG@aDY = 35 — 2x;
Suree (Origin) : (1995;
seoRaTeso (time unit): 10| |aen @5cect5D.

2orerdy 2008 & 278D DG (trend) DDECHDD........... BNDBOB.

Options:
1 ¥ Y =9 —2X

Question Number : 87 Question Id : 47163917094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the following statements:

I. Semi-average method, for measuring the trend. assumes parabolic relationship be-
tween the plotted pomnts.
[I. Semi-average method, for measuring the trend, 1s affected by the extremes in either

half or both halves of the series.

Which of the above statements is/are correct?

Options:
- Only II

Question Number : 87 Question Id : 47163917094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



& Sobd DouTred drofoiro.

l. 2@ (trend) 20 Eenchbersd eg — Hom0d (Semi — average) DEB HBoDd Dotaye 206
Horoeod (Parabolic) Doeoco & A0EHE Sotnod.

Il 50y (trend) o Bencoirdh e — b (Semi — average) i’.}%ﬁ@ “363 (Series) ag), e
o e Bodh arre) a3208) esedgoch (extreme ) So0e S SPENE (DB 9)e0d (affected by).

?gma‘)‘l adetdaren) bBoiad 7

Options:

5 o Il Soeeion

Question Number : 88 Question Id : 47163917095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Consider the following statements:

[. If the period of moving average happens to coincide with the period of cyclical
fluctutions in the data. such fluctuations are automatically eliminated.

[I. On using the moving average method, the shape of the trend 1s determimed by the
statistician’s choice of a mathematical function.

Which of the above statements is/are correct?

Options:

e Only I

Question Number : 88 Question Id : 47163917095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
& Sob pawTresn et orro.

. € eerosan (data)es® wed QPP GRS, €3G0 (Period of moving average) ea:0:58 oSah

TPODETeD (Cyclical fluctutions ) € D&z3D3) es TPODRTLRIND “’n}‘s}@hﬁmgw (automatically) Fefonecaran.

1. e SOPEH TR ?‘.)gm‘_'ﬁ (moving average method) 2o &‘bcﬁrﬁo&.ﬂmmﬁ ?ﬂ@gﬁ) a0 M&Q;&l rieded

DR0CHAD TP D@ dng), esseeaw ( shape of the trend) & DgonFrad.

» Doorees’ &/ HBGHHD

Options:

I_J]argéa



Question Number : 89 Question Id : 47163917096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Given the trend equation: ¥ = 16 + 3.X, where X units are in years and Y is the

annual production of television sets. The monthly trend equation is given by

Options:

_'_.! I xr

Question Number : 89 Question Id : 47163917096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

2@ (trend) DA0EoAL 1 Y = 16 + 3Y ( BE)C X 93008 R0oB0H0O 0B0IL  Yeodd
005e3y0008° S0IFEH Groacyd (Television set) @ Doajan Bena)n) D WA,

29aNED DB Dd DAL~

Options:

Question Number : 90 Question Id : 47163917097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The equation of the geometric trend is ¥ = 15(0.5)%. If the origin is
shifted backward by two years, the resulting trend equation is given by

Options:

5 o Y =60{0.5)F

Question Number : 90 Question Id : 47163917097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
a0l 2@ (geometric trend) G308, Ra0goman Y = 15 (0.5). suredotoadnsn Tod

P0DENTED DS 2BHB, D HOBT DY DD DDISGEAD- -

Options:

Y = 60 (0.5)
3 v (0.3)

Question Number : 91 Question Id : 47163917098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



The equation of the exponential trend is ¥ = ae®*. Given that there are
10 data points with X =1 and } InY = 17. If the trend was fitted by the method of
least squares, the value of a 18

Options:

o Wt E -

Question Number : 91 Question Id : 47163917098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
DrErod Dy (exponential trend) a3y, PDEEoman Y = gett

S X=1208a ) InY = 17 eodhger 10 S8ochay) e D.
£D9 ¢ (least square)HEB oroe DA Soirdd 3 0 GIVE), JEDD......

Options:

5 EI-E

Question Number : 92 Question Id : 47163917099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Consider the following statements:

I. Laspevre’s indices have an upward bias.
[I. Fisher's index formula satisfies the factor reversal test.
Which of the above statement(s) is/are correct?

Options:

= o Both [ and 11

Question Number : 92 Question Id : 47163917099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
& Sob DatTroRL arnforro.

l. ©°7y0B RarcdEen (Laspeyre’s indices) £ G D08 Fr2des (Upward bias) sotnod.
1. 33‘&153 fardé (Fishersindex) freiann eadndd. =o€ a8t (factor reversal) HBs80
Do HEB.

2 BenHedd DooTres’ DA /DD PBGHAD?

Options:



_ 1208010 11, Dot
R

Question Number : 93 Question Id : 47163917100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
If the Paasche's and Laspeyre’s index numbers are 175 and 112, respectively,

then, the Fisher's index number 1s

Options:
, o 140

Question Number : 93 Question Id : 47163917100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Fra0bain 720000 R =t SLESIY (Paasche's and Laspeyre's Index numbers) gauore

175 2080w 112 e9008 by (Fishers Jaroe doay-------

Options:
2 140

Question Number : 94 Question Id : 47163917101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The Laspeyre’s and Paasche's index numbers are 145 and 125, respectively.
Then. the Dorbish-Bowley's index number 1s

Options:
s v 135

Question Number : 94 Question Id : 47163917101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

SiES Nentle) SoBoin aFm “mﬁg"mn%w ( the Laspeyre's and Paasche's index numbers) gavore 145 2uboin

125 esondd o6 Ha &7 (Dorbish — Bowley's ) farad R08S.........

Options:
B 4 135

Question Number : 95 Question Id : 47163917102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



The equation of the exponential trend is ¥ = ae®®. Given that there are
20 data points with 3" X =0, S X2 =30, Y InY = 20In3 and 3 X InY = 60. If the

trend was fitted by the method of least squares, the values of a and b are, respectively

Options:
4w 3,2

Question Number : 95 Question Id : 47163917102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
ararot Had (exponential trend ) H&ngomaw YV = aetY.

sodatn X =0, X? =230, Y InY =20In3 208030 3 XIn¥ = 60. esciyesen
20 6zro? Dotaden RHAWEDD. €Y HP (least square) DHBEPP DB BOIPM DY LD

Savot™ @ 2ubaiv b {Iﬂlﬁb Dense) —-------

Options:
4o ?

Question Number : 96 Question Id : 47163917103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Consider the following statements:

I. Ratio-to-trend method 1s also known as percentage-to-trend method.

I1. Ratio-to-trend method assumes that seasonal variation for a given month 1s constant

fraction of trend.
II1. In ratio-to-trend method, the trend values are obtained by the semi-average method.
Which of the above statements is/are correct?

Options:
- Only I and II

Question Number : 96 Question Id : 47163917103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



& Sob padresi arnf oo,
. DDy — Aooct — D@ (Ratio-to-trend) DEAD Troda - oct- @ (percentage-to-trend)
‘;Jg}e‘_'é £9°) e90tFP .

I 2ug DeeS® chedd Doeots Deideso (seasonal variation) eS8, Dy (trend) a0, f’gﬁ a‘,’}é;.,'o (constant

fraction) — €9 DB~ Ao~ DS DENES” DBV B otrAW.

Il DOB — ooc. — P@ (Ratio-to-trend) HHS 5% Da9yH Denders e9g — Do~ (semi-average) HES wrgo?

SFociemdd.

DD BIAAD PIBTVE’ IOB/DD POEHIHD?
Options:

: 1:;::5@;”:1}“@:3:
1

Question Number : 97 Question Id : 47163917104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Given the following mformation:

Group Weight | Group index
Food 40 150
Fuel 10 110
Lighting L0 105
Clothing 10 180
Miscellaneous 30 130

The consumer price index 1s

Options:
38.5
, » 1385

Question Number : 97 Question Id : 47163917104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



& 2ob Haoemroo (information ) @;35&:-&:}«5.

HATTAD Foe odhD) i (Sor 39)
aﬁga‘m{gmup] (Weight) aros (grouplndex)
esir*caa00 (Food) 40 150
ocHan(Fuel) 10 110
Denand(Lighting ) 10 105
agm{(:lothing]l 10 180
modaanen (ore 30 130
D20S)(Miscellaneous)
DD e ooe arad (Price Index) —--------- 29 000,
Options:
5 o 138.5

Question Number : 98 Question Id : 47163917105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Given the following information:

Group Weight | Group index
Food 40 250
Fuel and lighting 30 200
Miscellaneous 30 T

If the consumer price index 1s 196, the value of z will be

Options:

Question Number : 98 Question Id : 47163917105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

& Sod Ravrerdo (information ) @;ﬁg&x’_m&.

P IFA Aledbw)! ER PR L =
group Weight group Index
eszcGa00 (Food) 40 250
Roidawendoin 30 200
aenady(Fuel and

Lighting)

@acanen (e 30 ’
D205 ) (Miscellaneous) '

DD e e Aarad (Price Index) 2938 196 @ond x G308, Desd ===



Options:
o of 120

Question Number : 99 Question Id : 47163917106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

For the section of middle class people in Hyderabad and Lucknow, we

have the following mformation:

Fmup Group Weight
index | Hyderabad | Lucknow
Food T 70 60
Other 1tems Yy 30 40

If the consumer price indices for Hyderabad and Lucknow are 106 and 108, respectively,

the values of r and y are, respectively
Options:

5« 100, 120

Question Number : 99 Question Id : 47163917106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
SPCFTrECLaDOGID e.:é"l (Hyderabad and Lucknow ) e5° 2063 60T HRoDDHR 2 TS,
£ 20f Dartrdo Sedi.

ES P bbb b AP e b = AleWiu )
group group Index Weight
FRin s ALY e N
es=3Ga0 (Food) X 70 6O
REBGA0eD
(Cther ltems) ¥y 30 40

TorTrercd anboin oB ol DI erdd coe Arde (Price Index) govore 106 20805 108 w900
Ea0oTr xandoin j.?{ﬁ}_)gaj o e D e —

Options:
R4 100, 120

Question Number : 100 Question Id : 47163917107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The geometric mean of Laspeyre’s and Paasche’s index numbers i1s 132

while their difference 1s 23. Then, the Dorbish-Bowley's index number 1s

Options:



5 o 1325

Question Number : 100 Question Id : 47163917107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

PN a3 S0Bain a2 ( Laspeyre’s and Paasche's ) e ?083(8) (DEY DGV (geometric mean) 132,

ZuBain o) S0 23 easufomro. einch b Ha & (Dorbish — Bowley's ) sarad “raoa:btg —————— 2908006,

Options:
= o 132.5

Question Number : 101 Question Id : 47163917108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Who invented the binary number system in 17037

Options:
e Gottfried Wilhelm Leibniz

Question Number : 101 Question Id : 47163917108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
170365° 8350 Doerb DD O S0 ™) 6?

Options:

FODE DS a5y TS
i

Question Number : 102 Question Id : 47163917109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Convert the given decimal number to its binary equivalent-
4210=

Options:
i 101010=

Question Number : 102 Question Id : 47163917109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

€8 $063 QOEICAD EREES Do T BHO WS(DTY L) ArCNOC. 42:0=

Options:

, v 101010



Question Number : 103 Question Id : 47163917110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
In hexadecimal number system base is

Options:

Question Number : 103 Question 1d : 47163917110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
sy &S Hoeb DR0eS” B -
Options:

1. v 16

Question Number : 104 Question Id : 47163917111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The largest single digit in octal number system is-

Options:
4.¢ 7

Question Number : 104 Question Id : 47163917111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
e35e5 Hoerd ajém*%m’i" 9306 oNeS Hoedd

Options:
4«7

Question Number : 105 Question Id : 47163917112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The decimal equivalent of octal number 2057 is-

Options:

1w 107110

Question Number : 105 Question Id : 47163917112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
e:igt‘)' ~oedb 2057 S éagqsﬁoe'i -

Options:



T, 107110

Question Number : 106 Question Id : 47163917113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The decimal eguivalent of hexadecimal number 1AFs is-

Options:
5 g 43110

Question Number : 106 Question Id : 47163917113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

75Ty ERaeS Db 1AFs Z0eS RS(DT0ES —

Options:
2. q‘?:" 43 liﬂ

Question Number : 107 Question Id : 47163917114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Which of the following statement is not correct about hexadecimal number?
Options:

2 bits are sufficient to represent any hexadecimal number in binary.
4 &

Question Number : 107 Question Id : 47163917114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Question Number : 108 Question Id : 47163917115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
ASCll stands for-

Options:

- American Standard Code for Information Interchange.

Question Number : 108 Question Id : 47163917115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 109 Question Id : 47163917116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

In EBCDIC code, maximum possible characters set size is-

Options:
4 o 256

Question Number : 109 Question Id : 47163917116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:

Ty 256

Question Number : 110 Question Id : 47163917117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Match List- | with List- Il and select the correct answer codes given below the lists-

List- | List- 1
a. 8 Bits 1. 1 Peta Byte
b. 1024 Tera Byte 2. 1 Yotta Byte
c. 1024 Brontobyte 3. 2 Nibble
d. 1024 7etta Byte 4. 1 Geop Byte
Options:

1 a-3 b-1 c4 d-2

Question Number : 110 Question Id : 47163917117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:

D3 D-1 H-4 &2

1.

Question Number : 111 Question Id : 47163917118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

A set of step by step procedures for accomplishing a task is known as-

Options:

| Algorithm

Question Number : 111 Question Id : 47163917118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 112 Question I1d : 47163917119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
A flow chart that outlines the main segments of a program-

Options:

o Macro

Question Number : 112 Question Id : 47163917119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 113 Question Id : 47163917120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Which of the following is not a characteristic of algorithm?

Options:

5 o Ambiguous

Question Number : 113 Question 1d : 47163917120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 114 Question Id : 47163917121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

A computer uses ASCII for its internal representations of characters. In which order will this
computer sort the strings 23, Al, 1A, a2, 2a, aA and Aa?

Options:
1 o 1A<23<2a<Al<Aa<al<aA

Question Number : 114 Question Id : 47163917121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
28 SoPid o) @) S BHBoND @D S0L6y oo AN 000D
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Options:
I1A<23<Za<Al<Aa<al<aA

!

1.9

Question Number : 115 Question Id : 47163917122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

To move to the previous worksheet press-

Options:



Y. Cirl+PgUp

Question Number : 115 Question Id : 47163917122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
20630 B30 DY, 23T 3 DWHEPDS DD 2D BorD?
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Options:
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Question Number : 116 Question Id : 47163917123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Which function will you use to enter current date and time in a worksheet cell?

Options:
o o =now()

Question Number : 116 Question Id : 47163917123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:

L

Question Number : 117 Question Id : 47163917124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
At the end of the financial year after sale of goods worth Rs. 2.00.000, there was a closmg stock of Rs.

10.000. Thas 1s:

Options:

1o An event

Question Number : 117 Question Id : 47163917124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 118 Question Id : 47163917125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
On 1nter- state sale of goods, which of the following account 1s credited:

Options:

5> of Output IGS5T Account

Question Number : 118 Question Id : 47163917125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 119 Question Id : 47163917126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Heavy initial advertising expenses on infroducing a new product in the market should be classified as:
Options:

5 Deferred revenue expenditure

Question Number : 119 Question Id : 47163917126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 120 Question Id : 47163917127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Which of the following should be considered a revenue expenditure?

Options:

o Damages paid on account of breach of contract to supply certain goods.

Question Number : 120 Question Id : 47163917127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 121 Question Id : 47163917128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The credit balance of a personal account shows:

Options:

5 o The amount payable

Question Number : 121 Question Id : 47163917128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 122 Question Id : 47163917129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
A list which contains balances of accounts to know whether the debit and credit balances are matched.

Options:
4 v Trial Balance

Question Number : 122 Question Id : 47163917129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 123 Question Id : 47163917130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The total of the Purchase Day Book 1s posted periodically to the:



Options:
1 « Debit of Purchase account

Question Number : 123 Question 1d : 47163917130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 124 Question Id : 47163917131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Bank balance shown in the Balance Sheet 15 of:

Options:
5 o Adjusted Cash Book

Question Number : 124 Question Id : 47163917131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Py 2265 €5° BeRed e§05 eIy
Options:

- (o
i ﬁrgg& 74 05

Question Number : 125 Question Id : 47163917132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Cheques recetved from debtors and deposited with the bank, but not yet realized before year end, should

be shown 1n the Balance Shest:

Options:

2100l As part of bank balance

Question Number : 125 Question Id : 47163917132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 126 Question Id : 47163917133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Stock- in- trade does not mclude

Options:

3 o Items held as fixed assets

Question Number : 126 Question Id : 47163917133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 127 Question 1d : 47163917134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Sales on approval becomes sales and accounted when:
Options:
Customer conveys hus acceptance or the time allowed to lum has expired and he has not returned

4 the goods, whichever occurs first

Question Number : 127 Question 1d : 47163917134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 128 Question 1d : 47163917135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The balance in the Petty Cash Book 1s:

Options:



= o An asset

Question Number : 128 Question Id : 47163917135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 129 Question Id : 47163917136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Ledger 1s a book in which:
Options:

ol Assets, Liabalities, Capital, Income and Expenses Accounts are maintained

Question Number : 129 Question Id : 47163917136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Question Number : 130 Question Id : 47163917137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
A final Bank Reconciliation Statement should contain items which are:

Options:
5 o Pending in the bank pass book only

Question Number : 130 Question Id : 47163917137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 131 Question Id : 47163917138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33
Which one of the following 1s not a clenical error?

Options:
5 « ErTor of principle

Question Number : 131 Question Id : 47163917138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 132 Question Id : 47163917139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Whuch financial statement represents “ASSETS = LIABILITIES + CAPITAL™ the accounfing equation?
Options:

=  Balance sheet

Question Number : 132 Question Id : 47163917139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 133 Question Id : 47163917140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Which of the following have contra entries?

Options:

ol Three colunm cash book

Question Number : 133 Question 1d : 47163917140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

& S00 735" BDET” STt Do &0erad?

Options:
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Question Number : 134 Question Id : 47163917141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Identify the mncorrect statement related to debt service ratio?

Options:

- A country’s international finances are healthier when this ratio 1s high

Question Number : 134 Question Id : 47163917141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 135 Question Id : 47163917142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
FRBMA 2003 emphasizes on the following except one. Identify that one?

Options:
e Capital - Led fiscal consolidation

Question Number : 135 Question Id : 47163917142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 136 Question Id : 47163917143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

What is the Crowding — 1n effect of deficit spending by the government?

Options:



” Rise in private mnvestment and operation of acceleration principle.
1.

Question Number : 136 Question Id : 47163917143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 137 Question Id : 47163917144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

According to third working group of RBI in which measure of money supply, the time

Liabilities portion of the savings deposits of the banking system are included?

Options:
3. M2

Question Number : 137 Question Id : 47163917144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
e6.D.0 (RBI) auraod S8 0f (07X Ds°Co 2 .g“cmé" Ceny Dowed, Doy
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Options:
3 o 202

Question Number : 138 Question Id : 47163917145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Which of the following currencies 1s not included in the SDR. basket of IMF?

Options:

i Swiss Franc

Question Number : 138 Question 1d : 47163917145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 139 Question Id : 47163917146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
In the year 2011-12, out of 1000 people, in the population 395 persons were in the labour Force

according to Usual Status. Persons unemployed are 9. Find out the work force participation rate?

Options:
= o 97.7

Question Number : 139 Question Id : 47163917146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 140 Question Id : 47163917147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Given the following four possibilities which results in an increase m total
consumer expenditure?

Options:

sl Demand 1s melastic and price rises

Question Number : 140 Question Id : 47163917147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 141 Question Id : 47163917148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

Which of the following reasons 1s responsible for the right word shift of the demand curve?

Options:



5 o Increase in the price of the substitute good

Question Number : 141 Question Id : 47163917148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:

m@:}mﬁ trE Goe dihoe
3. o

Question Number : 142 Question Id : 47163917149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The marginal utilities of product “X" and product “Y" are 300 and 450 respectively
at equulibrium. If the price of product “Y" 1s Rs. 60, what 1s the price of product “X’
at equuilibrium?

Options:
1 ¢ Rs. 40

Question Number : 142 Question 1d : 47163917149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
1o ar.40

Question Number : 143 Question Id : 47163917150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The Kinked demand curve model of oligopoly assumes —
Options:

Response to price increase 1s less than the response for a price decrease
4 &

Question Number : 143 Question Id : 47163917150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 144 Question Id : 47163917151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

“White Plan™ prepared by Harry Dexter White represented which country?

Options:
> « America

Question Number : 144 Question Id : 47163917151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
5 of esa0bse

Question Number : 145 Question Id : 47163917152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Kindle Berger's Formula to measure the optimum tarift?

Options:

o Ti=lle-1

Question Number : 145 Question Id : 47163917152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:

1. Ti=1/e-1

Question Number : 146 Question Id : 47163917153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Greater cash reserve ratio.

Options:
| « Lower will be the value of deposit multiplier

Question Number : 146 Question Id : 47163917153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Question Number : 147 Question Id : 47163917154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The term “Inflation policy”™ implies

Options:

4

There is no erosion of purchasing power of money and There is no or little social cost of inflation are true

Question Number : 147 Question Id : 47163917154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 148 Question Id : 47163917155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Which of the following explanations are part of Rosenstemn Rodan’s Theory of Economic Development?

Options:

o, Social Overhead Capital 1s the most important instance of indivisibility

Question Number : 148 Question Id : 47163917155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Options:
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Question Number : 149 Question Id : 47163917156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Whach of the following 1s called Bretton Woods Twins?

Options:



5 IMF and IBRD

Question Number : 149 Question Id : 47163917156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Question Number : 150 Question Id : 47163917157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Name the Econonust who has listed Eight effects of tariffs
Options:

- « Kindle Berger

Question Number : 150 Question Id : 47163917157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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